[
OQ)
F=34[ut-9 - alt-2)] + § Tott-9)-utt-u)] -

= 3X (63D ult-g) -6 u(r-u) =
73X -3 ut) —bultu)

Tapad:
>N U
1Gw)= Szzé‘“&r + et -
< &
= *:,';":’ feﬂx+%seuéc@f' * ,3, e:/;f
o (g

2 &
6™ 3 ) -t _b (T

ST TR le e /T
o ———
3 o 3 e — "'w"' ée 1o
Y R Y
o, e s
W
4 . PR3 RRlxe pxlwg
)= A+ 3l Iy 30~ +Y QH\) +b{
P\ <
= -— % i a5
(pay+g ) +d

{F@J e mﬁﬂ' x 3e A a3t
S




G 3y ey =502 | yl9=0,40 =
A»{M:tw'hil;ﬁ» ruﬂ% m‘ .

Y - nr;géo) -y 0) +3nY -39@ Y = 3 (54-2)

TR hve

& (/3 *daex\ )Y =| +i(£(=¢~-—&)) i(su»:))--
= @H)’Y =i - SactsyeHar
-3 ° —3a
& Y=—g5 + & \ -e
(Mc\) @r-k!)1

= 2(}&): o e'(*-&)(;t-a)u(f-@)

3 ¢ 3
| -2 -v 3 -2 ],
(-9
;‘): o 3 3 3 & )
O ¢ -1& 4y -au
4 -5 -» o Y
1o-3 -y 3 -9
o 3 5 -la 9 )&
—43 Ju -S4 )
o b
l O 3 9 -3 la |
=% -4 3 mg\j} \ .
5 2 (wysr Vot M ‘
tu}(A)a O 53?‘ 9 - 1 M 63 wley
o 0 O 6 o =, heA =
0o 0o o o O Pomgt ,.,_—l}




E Y

Nolla —owohiucly.. M m(4) =3

T
M

e

& oL
< Rwcavmiindor  Boln:

[t -2 -y 3 -],

[0 3 3 - 12
MW jwfﬁ_{

17 (-8

ol |3

o[t

Y4 L5

Nﬁi&\—*m Mi

x" = ;Xi +4 %y ‘“37‘:,.‘ {—QXG_ = —-3:&3 +§XU\ “"6)65

Xy = T3hy UK “UX

(morh. nzry 3=y wr=xs)

"*"3(.4\ ‘{'L‘t"\}’ “‘WM)’ --.& L\ _L{

A o } Iy,

L AN L © 0 U]
—a7] [“5*7 (-t
Youdo v | 72 “ —u
i 1 b / 9]
0 1 o
| 04 | o B




Jro o O o

3
, A (A-AD=(2-3) (A~5)




